

Annales Universitatis Paedagogicae Cracoviensis Studia Mathematica XVIII (2019)

Badreddine Meftah and Abdourazek Souahi

Fractional Hermite-Hadamard type integral inequalities for functions whose modulus of the mixed derivatives are co-ordinated s -preinvex in the second sense

Abstract. In this paper we establish some fractional Hermite-Hadamard type integral inequalities for functions whose modulus of the mixed derivatives are co-ordinated s -preinvex in the second sense.

1. Introduction

Let $f: I \subset \mathbb{R} \rightarrow \mathbb{R}$ be a convex function defined on the interval I of real numbers and let $a, b \in I$ with $a < b$. Then

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x) dx \leq \frac{f(a) + f(b)}{2}. \quad (1)$$

The above inequality is known in the literature as the integral inequality of Hermite-Hadamard (see [14]). It can be considered as a necessary and sufficient condition for a function to be convex. Due to this very close relationship between the theory of inequality and the notion of convexity, researchers have not ceased to explore inequality (1) via different kinds of convexity. Various generalizations, improvements, extensions and variants of these have appeared in the literature, see [1, 3, 6, 7, 8, 9, 10, 11, 16, 17] and references therein.

Also the classical convexity have been generalized by different way. One of the significant one is that introduced by Hanson (see [4]), called invexity or preinvexity, many authors have studied their properties and applications in mathematical programming and optimizations, see for instance [2, 12, 13, 15, 18, 19].

AMS (2010) Subject Classification: 26D15, 26D20, 26A51.

Keywords and phrases: integral inequality, co-ordinated preinvex, co-ordinated s -preinvex, Hölder inequality, power mean inequality.

In [3], Dragomir established the bidimensional analogue of (1) given by

$$\begin{aligned}
& f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) \\
& \leq \frac{1}{2} \left(\frac{1}{b-a} \int_a^b f\left(x, \frac{c+d}{2}\right) dx + \frac{1}{d-c} \int_c^d f\left(\frac{a+b}{2}, y\right) dy \right) \\
& \leq \frac{1}{(b-a)(d-c)} \int_a^b \int_c^d f(x, y) dy dx \\
& \leq \frac{1}{4} \left(\frac{1}{b-a} \left(\int_a^b f(x, c) dx + \int_a^b f(x, d) dx \right) \right. \\
& \quad \left. + \frac{1}{d-c} \left(\int_c^d f(a, y) dy + \int_c^d f(b, y) dy \right) \right) \\
& \leq \frac{f(a, c) + f(a, d) + f(b, c) + f(b, d)}{4}.
\end{aligned}$$

In 2014 in [16], Sarikaya gave the following fractional Hermite-Hadamard for co-ordinated convex functions.

THEOREM 1

Let $f: \Delta \rightarrow \mathbb{R}$ be a partial differentiable mapping on $\Delta = [a, b] \times [c, d] \subset \mathbb{R}^2$. If $\left| \frac{\partial^2 f}{\partial s \partial t} \right|$ is a convex function on the co-ordinates on Δ , then one has the inequalities

$$\begin{aligned}
& \left| \frac{f(a, c) + f(a, d) + f(b, c) + f(b, d)}{4} + \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{(b-a)^\alpha(d-c)^\beta} \right. \\
& \quad \left. \times (J_{a^+, c^+}^{\alpha, \beta} f(b, d) + J_{a^+, d^-}^{\alpha, \beta} f(b, c) + J_{b^-, c^+}^{\alpha, \beta} f(a, d) + J_{b^-, d^-}^{\alpha, \beta} f(a, c) - A) \right| \\
& \leq \frac{(b-a)(d-c)}{4(\alpha+1)(\beta+1)} \left(\left| \frac{\partial^2 f}{\partial s \partial t}(a, c) \right| + \left| \frac{\partial^2 f}{\partial s \partial t}(a, d) \right| + \left| \frac{\partial^2 f}{\partial s \partial t}(b, c) \right| + \left| \frac{\partial^2 f}{\partial s \partial t}(b, d) \right| \right),
\end{aligned}$$

where

$$\begin{aligned}
A &= \frac{\Gamma(\beta+1)}{4(d-c)^\beta} (J_{c^+}^\beta f(a, d) + J_{c^+}^\beta f(b, d) + J_{d^-}^\beta f(a, c) + J_{d^-}^\beta f(b, c)) \\
& \quad + \frac{\Gamma(\alpha+1)}{4(b-a)^\alpha} (J_{a^+}^\alpha f(b, c) + J_{a^+}^\alpha f(b, d) + J_{b^-}^\alpha f(a, c) + J_{b^-}^\alpha f(a, d)).
\end{aligned} \tag{2}$$

THEOREM 2

Let $f: \Delta \rightarrow \mathbb{R}$ be a partial differentiable mapping on $\Delta = [a, b] \times [c, d] \subset \mathbb{R}^2$. If $\left| \frac{\partial^2 f}{\partial s \partial t} \right|^q$, $q > 1$ is a convex function on the co-ordinates on Δ , then one has the inequalities

$$\begin{aligned}
& \left| \frac{f(a, c) + f(a, d) + f(b, c) + f(b, d)}{4} + \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{(b-a)^\alpha(d-c)^\beta} \right. \\
& \quad \left. \times (J_{a^+, c^+}^{\alpha, \beta} f(b, d) + J_{a^+, d^-}^{\alpha, \beta} f(b, c) + J_{b^-, c^+}^{\alpha, \beta} f(a, d) + J_{b^-, d^-}^{\alpha, \beta} f(a, c) - A) \right|
\end{aligned}$$

$$\leq \frac{(b-a)(d-c)}{((\alpha p + 1)(\beta p + 1))^{\frac{1}{p}}} \left(\frac{1}{4}\right)^{\frac{1}{q}}$$

$$\times \left(\left| \frac{\partial^2 f}{\partial s \partial t}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial s \partial t}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial s \partial t}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial s \partial t}(b, d) \right|^q \right),$$

where A is defined by (2) and $\frac{1}{p} + \frac{1}{q} = 1$.

Motivated by the above results, in this paper we establish some new fractional Hermite-Hadamard type inequalities for functions whose modulus of the mixed derivatives are co-ordinated s -preinvex in the second sense.

2. Preliminaries

In this section we recall some definitions and lemmas that's well known in the literature. We assume that $\Delta := [a, b] \times [c, d]$ is a bidimensional interval in \mathbb{R}^2 with $a < b$ and $c < d$.

DEFINITION 1 ([6])

A function $f: \Delta \rightarrow \mathbb{R}$ is said to be *co-ordinated convex on Δ* , if the following inequality

$$f(tx + (1-t)u, \lambda y + (1-\lambda)v) \leq t\lambda f(x, y) + t(1-\lambda)f(x, v)$$

$$+ (1-t)\lambda f(u, y) + (1-t)(1-\lambda)f(u, v)$$

holds for all $t, \lambda \in [0, 1]$ and $(x, y), (x, v), (u, y), (u, v) \in \Delta$.

DEFINITION 2 ([1])

A nonnegative function $f: \Delta \subset [0, \infty)^2 \rightarrow \mathbb{R}$ is said to be *s -convex in the second sense on the co-ordinates on Δ for some fixed $s \in (0, 1]$* , if the following inequality

$$f(\lambda x + (1-\lambda)z, ty + (1-t)w) \leq \lambda^s t^s f(x, y) + \lambda^s (1-t)^s f(x, w)$$

$$+ (1-\lambda)^s t^s f(z, y) + (1-\lambda)^s (1-t)^s f(z, w),$$

holds for all $(x, y), (z, w), (x, w), (z, y) \in \Delta$ and $\lambda, t \in [0, 1]$.

DEFINITION 3 ([9])

Let K_1, K_2 be nonempty subsets of \mathbb{R}^n , $(u, v) \in K_1 \times K_2$. We say $K_1 \times K_2$ is *invex at (u, v) with respect to η_1 and η_2* , if for each $(x, y) \in K_1 \times K_2$ and $t, s \in [0, 1]$, we have

$$(u + t\eta_1(x, u), v + s\eta_2(y, v)) \in K_1 \times K_2.$$

Let us recall that the set $K_1 \times K_2$ is said to be *an invex set with respect to η_1 and η_2* , if $K_1 \times K_2$ is invex at each $(u, v) \in K_1 \times K_2$.

In what follows we assume that $K_1 \times K_2$ be an invex set with respect to $\eta_1: K_1 \times K_1 \rightarrow \mathbb{R}$ and $\eta_2: K_2 \times K_2 \rightarrow \mathbb{R}$.

DEFINITION 4 ([8])

A function $f: K_1 \times K_2 \rightarrow \mathbb{R}$ is said to be *preinvex on the co-ordinates*, if the following inequality

$$\begin{aligned} f(u + \lambda\eta_1(x, u), v + t\eta_2(y, v)) &\leq (1 - \lambda)(1 - t)f(u, v) + (1 - \lambda)tf(u, y) \\ &\quad + (1 - t)\lambda f(x, v) + \lambda tf(x, y) \end{aligned}$$

holds for all $t, \lambda \in [0, 1]$ and $(x, y), (x, v), (u, y), (u, v) \in K_1 \times K_2$.

DEFINITION 5 ([10])

A nonnegative function $f: K_1 \times K_2 \subset [0, +\infty) \times [0, +\infty) \rightarrow \mathbb{R}$ is said to be *s-preinvex in the second sense on co-ordinates for some fixed $s \in (0, 1]$* , if the following inequality

$$\begin{aligned} f(u + \lambda\eta_1(x, u), v + t\eta_2(y, v)) &\leq (1 - \lambda)^s(1 - t)^s f(u, v) + (1 - \lambda)^s t^s f(u, y) \\ &\quad + (1 - t)^s \lambda^s f(x, v) + \lambda^s t^s f(x, y) \end{aligned}$$

holds for all $t, \lambda \in [0, 1]$ and $(x, y), (x, v), (u, y), (u, v) \in K_1 \times K_2$.

DEFINITION 6 ([5])

Let $f \in L[a, b]$. The Riemann-Liouville integrals $J_{a^+}^\alpha f$ and $J_{b^-}^\alpha f$ of order $\alpha > 0$ with $a \geq 0$ are defined by

$$\begin{aligned} J_{a^+}^\alpha f(x) &= \frac{1}{\Gamma(\alpha)} \int_a^x (x - t)^{\alpha-1} f(t) dt, \quad x > a, \\ J_{b^-}^\alpha f(x) &= \frac{1}{\Gamma(\alpha)} \int_x^b (t - x)^{\alpha-1} f(t) dt, \quad b > x, \end{aligned}$$

respectively, where $\Gamma(\alpha) = \int_0^\infty e^{-t} t^{\alpha-1} dt$, is the Gamma function and $J_{a^+}^0 f(x) = J_{b^-}^0 f(x) = f(x)$.

DEFINITION 7 ([7])

Let $f \in L([a, b] \times [c, d])$. The Riemann-Liouville integrals $J_{a^+, c^+}^{\alpha, \beta}$, $J_{a^+, d^-}^{\alpha, \beta}$, $J_{b^-, c^+}^{\alpha, \beta}$ and $J_{b^-, d^-}^{\alpha, \beta}$ of order $\alpha, \beta > 0$ with $a, c \geq 0$, $a < b$ and $c < d$ are defined by

$$\begin{aligned} J_{a^+, c^+}^{\alpha, \beta} f(b, d) &= \frac{1}{\Gamma(\alpha)\Gamma(\beta)} \int_a^b \int_c^d (b - x)^{\alpha-1} (d - y)^{\beta-1} f(x, y) dy dx, \\ J_{a^+, d^-}^{\alpha, \beta} f(b, c) &= \frac{1}{\Gamma(\alpha)\Gamma(\beta)} \int_a^b \int_c^d (b - x)^{\alpha-1} (y - c)^{\beta-1} f(x, y) dy dx, \\ J_{b^-, c^+}^{\alpha, \beta} f(a, d) &= \frac{1}{\Gamma(\alpha)\Gamma(\beta)} \int_a^b \int_c^d (x - a)^{\alpha-1} (d - y)^{\beta-1} f(x, y) dy dx, \\ J_{b^-, d^-}^{\alpha, \beta} f(a, c) &= \frac{1}{\Gamma(\alpha)\Gamma(\beta)} \int_a^b \int_c^d (x - a)^{\alpha-1} (y - c)^{\beta-1} f(x, y) dy dx, \end{aligned}$$

where Γ is the Gamma function and

$$J_{a^+, c^+}^{0,0} f(b, d) = J_{a^+, d^-}^{0,0} f(b, c) = J_{b^-, c^+}^{0,0} f(a, d) = J_{b^-, d^-}^{0,0} f(a, c) = f(x, y).$$

DEFINITION 8 ([16])

Let $f \in L([a, b] \times [c, d])$. The Riemann–Liouville integrals $J_{b^-}^\alpha f(a, c)$, $J_{a^+}^\alpha f(b, c)$, $J_{d^-}^\beta f(a, c)$ and $J_{c^+}^\alpha f(a, d)$ of order $\alpha, \beta > 0$ with $a, c \geq 0$, $a < b$, and $c < d$ are defined by

$$\begin{aligned} J_{b^-}^\alpha f(a, c) &= \frac{1}{\Gamma(\alpha)} \int_a^b (x - a)^{\alpha-1} f(x, c) dx, \\ J_{a^+}^\alpha f(b, c) &= \frac{1}{\Gamma(\alpha)} \int_a^b (b - x)^{\alpha-1} f(x, c) dx, \\ J_{d^-}^\beta f(a, c) &= \frac{1}{\Gamma(\beta)} \int_c^d (y - c)^{\beta-1} f(a, y) dy, \\ J_{c^+}^\alpha f(a, d) &= \frac{1}{\Gamma(\beta)} \int_c^d (d - y)^{\beta-1} f(a, y) dy, \end{aligned}$$

where Γ is the Gamma function.

LEMMA 1 ([11])

Let $f: K \rightarrow \mathbb{R}$ be a partially differentiable function on K , if $\frac{\partial^2 f}{\partial t \partial \lambda} \in L(K)$, then the following equality holds

$$\begin{aligned} & \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \\ & - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b,a))^- , (c+\eta_2(d,c))^-}^{\alpha, \beta} f(a, c) \\ & + J_{a^+ , (c+\eta_2(d,c))^-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b,a))^- , c^+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\ & + J_{a^+ , c^+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c))) \\ & = \frac{\eta_1(b, a)\eta_2(d, c)}{4} \int_0^1 \int_0^1 (t^\alpha - (1 - t)^\alpha)(\lambda^\beta - (1 - \lambda)^\beta) \\ & \quad \times \frac{\partial^2 f}{\partial t \partial \lambda}(a + t\eta_1(b, a), c + \lambda\eta_2(d, c)) d\lambda dt, \end{aligned}$$

where

$$\begin{aligned} A &= \frac{\Gamma(\alpha + 1)}{4(\eta_1(b, a))^\alpha} (J_{(a+\eta_1(b,a))^-}^\alpha f(a, c + \eta_2(d, c)) + J_{(a+\eta_1(b,a))^-}^\alpha f(a, c) \\ & + J_{a^+}^\alpha f(a + \eta_1(b, a), c + \eta_2(d, c)) + J_{a^+}^\alpha f(a + \eta_1(b, a), c)) \\ & + \frac{\Gamma(\beta + 1)}{4(\eta_2(d, c))^\beta} (J_{(c+\eta_2(d,c))^-}^\beta f(a + \eta_1(b, a), c) + J_{(c+\eta_2(d,c))^-}^\beta f(a, c) \\ & + J_{c^+}^\alpha f(a + \eta_1(b, a), c + \eta_2(d, c)) + J_{c^+}^\alpha f(a, c + \eta_2(d, c))). \end{aligned} \tag{3}$$

3. Main results

In what follows we assume that $K = [a, a + \eta_1(b, a)] \times [c, c + \eta_2(d, c)]$ be an invex subset of $[0, +\infty) \times [0, +\infty)$ with respect to η_1, η_2 where $\eta_1, \eta_2: \mathbb{R}^2 \rightarrow \mathbb{R}$ are two bifunctions such that $\eta_1(b, a) > 0$ and $\eta_2(d, c) > 0$, and K° is the interior of K .

THEOREM 3

Let $f: K \rightarrow \mathbb{R}$ be a partially differentiable function on K° . If $|\frac{\partial^2 f}{\partial t \partial \lambda}|$ is a co-ordinated s -preinvex function on K with respect to η_1 and η_2 , then the following fractional inequality holds

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\ & \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b, a))-, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a, c) \\ & \quad + J_{a+, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b, a))-, c+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\ & \quad \left. + J_{a+, c+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \\ & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{4} \left(\frac{1}{\alpha + s + 1} + B(\alpha + 1, s + 1) \right) \left(\frac{1}{\beta + s + 1} + B(\beta + 1, s + 1) \right) \\ & \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right), \end{aligned}$$

where A is defined as in (3).

Proof. From Lemma 1, and properties of modulus we have

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\ & \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b, a))-, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a, c) \\ & \quad + J_{a+, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b, a))-, c+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\ & \quad \left. + J_{a+, c+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \\ & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{4} \int_0^1 \int_0^1 \left(|t^\alpha - (1-t)^\alpha| \times |\lambda^\beta - (1-\lambda)^\beta| \right. \\ & \quad \left. \times \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a + t\eta_1(b, a), c + \lambda\eta_2(d, c)) \right| \right) d\lambda dt \\ & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{4} \int_0^1 \int_0^1 \left((t^\alpha + (1-t)^\alpha)(\lambda^\beta + (1-\lambda)^\beta) \right. \\ & \quad \left. \times \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a + t\eta_1(b, a), c + \lambda\eta_2(d, c)) \right| \right) d\lambda dt. \end{aligned}$$

Using s -preinvexity on the co-ordinates of $|\frac{\partial^2 f}{\partial t \partial \lambda}|$, we get

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\ & \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b, a))-, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a, c) \\ & \quad + J_{a+, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b, a))-, c+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\ & \quad \left. + J_{a+, c+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \\ & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{4} \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| \int_0^1 \int_0^1 ((t^\alpha + (1-t)^\alpha) \right. \\ & \quad \left. \times (\lambda^\beta + (1-\lambda)^\beta)(1-t)^s(1-\lambda)^s) d\lambda dt \right. \\ & \quad + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| \int_0^1 \int_0^1 (t^\alpha + (1-t)^\alpha)(\lambda^\beta + (1-\lambda)^\beta)(1-t)^s \lambda^s d\lambda dt \\ & \quad + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| \int_0^1 \int_0^1 (t^\alpha + (1-t)^\alpha)(\lambda^\beta + (1-\lambda)^\beta) t^s (1-\lambda)^s d\lambda dt \\ & \quad \left. + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \int_0^1 \int_0^1 (t^\alpha + (1-t)^\alpha)(\lambda^\beta + (1-\lambda)^\beta) t^s \lambda^s d\lambda dt \right) \\ & = \frac{\eta_1(b, a)\eta_2(d, c)}{4} \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right) \\ & \quad \times \left(\int_0^1 (t^\alpha(1-t)^s + (1-t)^{\alpha+s}) dt \right) \left(\int_0^1 (\lambda^\beta(1-\lambda)^s + (1-\lambda)^{\beta+s}) d\lambda \right) \\ & = \frac{\eta_1(b, a)\eta_2(d, c)}{4} \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right) \\ & \quad \times \left(\frac{1}{\alpha + s + 1} + B(\alpha + 1, s + 1) \right) \left(\frac{1}{\beta + s + 1} + B(\beta + 1, s + 1) \right), \end{aligned}$$

where we have used the fact that

$$\begin{aligned} & \int_0^1 \int_0^1 (t^\alpha + (1-t)^\alpha)(\lambda^\beta + (1-\lambda)^\beta)(1-t)^s(1-\lambda)^s d\lambda dt \\ & = \int_0^1 \int_0^1 (t^\alpha + (1-t)^\alpha)(\lambda^\beta + (1-\lambda)^\beta)(1-t)^s \lambda^s d\lambda dt \\ & = \int_0^1 \int_0^1 (t^\alpha + (1-t)^\alpha)(\lambda^\beta + (1-\lambda)^\beta) t^s (1-\lambda)^s d\lambda dt \\ & = \int_0^1 \int_0^1 (t^\alpha + (1-t)^\alpha)(\lambda^\beta + (1-\lambda)^\beta) t^s \lambda^s d\lambda dt \\ & = \left(\frac{1}{\alpha + s + 1} + B(\alpha + 1, s + 1) \right) \left(\frac{1}{\beta + s + 1} + B(\beta + 1, s + 1) \right). \end{aligned}$$

The proof is completed.

COROLLARY 1

In Theorem 3 if we put $s = 1$, we obtain the following fractional inequality

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\ & \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b, a))-, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a, c) \\ & \quad + J_{a+, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b, a))-, c+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\ & \quad \left. + J_{a+, c+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \\ & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{4(\alpha + 1)(\beta + 1)} \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right). \end{aligned}$$

COROLLARY 2

In Theorem 3 if we choose $\eta_1(b, a) = \eta_2(b, a) = b - a$, we obtain the following fractional inequality

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, d) + f(b, c) + f(b, d)}{4} - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(b - a)^\alpha(d - c)^\beta} \right. \\ & \quad \times (J_{b-, d-}^{\alpha, \beta} f(a, c) + J_{a+, d-}^{\alpha, \beta} f(b, c) + J_{b-, c+}^{\alpha, \beta} f(a, d) + J_{a+, c+}^{\alpha, \beta} f(b, d)) \left. \right| \\ & \leq \frac{(b - a)(d - c)}{4} \left(\frac{1}{\alpha + s + 1} + B(\alpha + 1, s + 1) \right) \left(\frac{1}{\beta + s + 1} + B(\beta + 1, s + 1) \right) \\ & \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right). \end{aligned}$$

Moreover if we take $s = 1$, we get Theorem 5 from [16].

THEOREM 4

Let $f: K \rightarrow \mathbb{R}$ be a partially differentiable function on K° . If $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|^q$, where $q > 1$ with $\frac{1}{p} + \frac{1}{q} = 1$ is a co-ordinated s -preinvex function on K with respect to η_1 and η_2 , then the following fractional inequality holds

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\ & \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b, a))-, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a, c) \\ & \quad + J_{a+, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b, a))-, c+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\ & \quad \left. + J_{a+, c+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \\ & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{(\alpha p + 1)^{\frac{1}{p}}(\beta p + 1)^{\frac{1}{p}}(s + 1)^{\frac{2}{q}}} \end{aligned}$$

$$\times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right)^{\frac{1}{q}},$$

where A is defined as in (3).

Proof. From Lemma 1, properties of modulus, and Hölder inequality, we have

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\ & \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b, a))-, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a, c) \\ & \quad + J_{a+, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b, a))-, c+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\ & \quad \left. + J_{a+, c+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \\ & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{4} \left(\left(\int_0^1 \int_0^1 t^{\alpha p} \lambda^{\beta p} d\lambda dt \right)^{\frac{1}{p}} + \left(\int_0^1 \int_0^1 t^{\alpha p} (1 - \lambda)^{\beta p} d\lambda dt \right)^{\frac{1}{p}} \right. \\ & \quad \left. + \left(\int_0^1 \int_0^1 (1 - t)^{p\alpha} \lambda^{p\beta} d\lambda dt \right)^{\frac{1}{p}} + \left(\int_0^1 \int_0^1 (1 - t)^{p\alpha} (1 - \lambda)^{p\beta} d\lambda dt \right)^{\frac{1}{p}} \right) \\ & \quad \times \left(\int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a + t\eta_1(b, a), c + \lambda\eta_2(d, c)) \right|^q d\lambda dt \right)^{\frac{1}{q}} \\ & = \frac{\eta_1(b, a)\eta_2(d, c)}{(\alpha p + 1)^{\frac{1}{p}}(\beta p + 1)^{\frac{1}{p}}} \left(\int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a + t\eta_1(b, a), c + \lambda\eta_2(d, c)) \right|^q d\lambda dt \right)^{\frac{1}{q}}. \end{aligned}$$

Since $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|^q$ is co-ordinated s -preinvex, we deduce

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\ & \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b, a))-, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a, c) \\ & \quad + J_{a+, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b, a))-, c+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\ & \quad \left. + J_{a+, c+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \\ & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{(\alpha p + 1)^{\frac{1}{p}}(\beta p + 1)^{\frac{1}{p}}} \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q \int_0^1 \int_0^1 (1 - t)^s (1 - \lambda)^s d\lambda dt \right. \\ & \quad + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q \int_0^1 \int_0^1 (1 - t)^s \lambda^s d\lambda dt + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \int_0^1 \int_0^1 t^s \lambda^s d\lambda dt \\ & \quad \left. + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q \int_0^1 \int_0^1 t^s (1 - \lambda)^s d\lambda dt \right)^{\frac{1}{q}} \\ & = \frac{\eta_1(b, a)\eta_2(d, c)}{(\alpha p + 1)^{\frac{1}{p}}(\beta p + 1)^{\frac{1}{p}}} \end{aligned}$$

$$\times \left(\frac{|\frac{\partial^2 f}{\partial t \partial \lambda}(a, c)|^q + |\frac{\partial^2 f}{\partial t \partial \lambda}(a, d)|^q + |\frac{\partial^2 f}{\partial t \partial \lambda}(b, c)|^q + |\frac{\partial^2 f}{\partial t \partial \lambda}(b, c)|^q}{(s+1)^2} \right)^{\frac{1}{q}},$$

which is the desired result.

COROLLARY 3

In Theorem 4 if we put $s = 1$, we obtain the following fractional inequality

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\ & \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b, a))-, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a, c) \\ & \quad + J_{a+, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b, a))-, c+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\ & \quad \left. + J_{a+, c+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \\ & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{4^{\frac{1}{q}}(\alpha p + 1)^{\frac{1}{p}}(\beta p + 1)^{\frac{1}{p}}} \\ & \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q \right)^{\frac{1}{q}}. \end{aligned}$$

COROLLARY 4

In Theorem 4 if we choose $\eta_1(b, a) = \eta_2(b, a) = b - a$, we obtain the following fractional inequality

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, d) + f(b, c) + f(b, d)}{4} - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(b - a)^\alpha(d - c)^\beta} \right. \\ & \quad \times \left(J_{b-, d-}^{\alpha, \beta} f(a, c) + J_{a+, d-}^{\alpha, \beta} f(b, c) + J_{b-, c+}^{\alpha, \beta} f(a, d) + J_{a+, c+}^{\alpha, \beta} f(b, d) \right) \\ & \leq \frac{(b - a)(d - c)}{(s + 1)^{\frac{2}{q}}(\alpha p + 1)^{\frac{1}{p}}(\beta p + 1)^{\frac{1}{p}}} \\ & \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q \right)^{\frac{1}{q}}. \end{aligned}$$

Moreover if we take $s = 1$, we get Theorem 6 from [16].

THEOREM 5

Under the assumptions of Theorem 4, we have the following fractional inequality

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\ & \quad A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b, a))-, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a, c) \\ & \quad \left. + J_{a+, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b, a))-, c+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \right) \end{aligned}$$

$$\begin{aligned}
 & \left| J_{a^+,c^+}^{\alpha,\beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right| \tag{4} \\
 & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{2^{\frac{1}{q}}(\alpha p + 1)^{\frac{1}{p}}(1+s)^{\frac{1}{q}}} \left(B(\beta q + 1, s + 1) + \frac{1}{\beta q + s + 1} \right)^{\frac{1}{q}} \\
 & \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right).
 \end{aligned}$$

Proof. From Lemma 1, properties of modulus, and Hölder inequality, we have

$$\begin{aligned}
 & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\
 & \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b,a))^-,(c+\eta_2(d,c))^-}^{\alpha,\beta} f(a, c) \\
 & \quad + J_{a^+,(c+\eta_2(d,c))^-}^{\alpha,\beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b,a))^- ,c^+}^{\alpha,\beta} f(a, c + \eta_2(d, c)) \\
 & \quad \left. + J_{a^+,c^+}^{\alpha,\beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \Big| \\
 & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{4} \left(\left(\int_0^1 \int_0^1 t^{\alpha p} d\lambda dt \right)^{\frac{1}{p}} + \left(\int_0^1 \int_0^1 (1-t)^{\alpha p} d\lambda dt \right)^{\frac{1}{p}} \right) \tag{5} \\
 & \quad \times \left(\int_0^1 \int_0^1 (\lambda^\beta + (1-\lambda)^\beta)^q \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a + t\eta_1(b, a), c + \lambda\eta_2(d, c)) \right|^q d\lambda dt \right)^{\frac{1}{q}} \\
 & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{2(\alpha p + 1)^{\frac{1}{p}}} \\
 & \quad \times \left(\int_0^1 \int_0^1 (\lambda^\beta + (1-\lambda)^\beta)^q \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a + t\eta_1(b, a), c + \lambda\eta_2(d, c)) \right|^q d\lambda dt \right)^{\frac{1}{q}}.
 \end{aligned}$$

Using the following algebraic inequality $(a + b)^p \leq 2^{p-1}(a^p + b^p)$ for $a, b > 0$ and $p \geq 1$, (4) becomes

$$\begin{aligned}
 & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\
 & \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b,a))^-,(c+\eta_2(d,c))^-}^{\alpha,\beta} f(a, c) \\
 & \quad + J_{a^+,(c+\eta_2(d,c))^-}^{\alpha,\beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b,a))^- ,c^+}^{\alpha,\beta} f(a, c + \eta_2(d, c)) \\
 & \quad \left. + J_{a^+,c^+}^{\alpha,\beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \Big| \\
 & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{2^{\frac{1}{q}}(\alpha p + 1)^{\frac{1}{p}}} \\
 & \quad \times \left(\int_0^1 \int_0^1 (\lambda^{\beta q} + (1-\lambda)^{\beta q}) \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a + t\eta_1(b, a), c + \lambda\eta_2(d, c)) \right|^q d\lambda dt \right)^{\frac{1}{q}}.
 \end{aligned}$$

Now, using the s -preinvexity on the co-ordinates of $\left|\frac{\partial^2 f}{\partial t \partial \lambda}\right|^q$, (5) gives

$$\begin{aligned}
& \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\
& \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b, a))-, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a, c) \\
& \quad + J_{a^+, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b, a))-, c^+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\
& \quad \left. + J_{a^+, c^+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \\
& \leq \frac{\eta_1(b, a)\eta_2(d, c)}{2^{\frac{1}{q}}(\alpha p + 1)^{\frac{1}{p}}} \\
& \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q \int_0^1 \int_0^1 (\lambda^{\beta q}(1 - \lambda)^s + (1 - \lambda)^{\beta q + s})(1 - t)^s d\lambda dt \right. \\
& \quad + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q \int_0^1 \int_0^1 (\lambda^{\beta q}(1 - \lambda)^s + (1 - \lambda)^{\beta q + s})t^s d\lambda dt \\
& \quad + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q \int_0^1 \int_0^1 (\lambda^{\beta q + s} + \lambda^s(1 - \lambda)^{\beta q})(1 - t)^s d\lambda dt \\
& \quad \left. + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \int_0^1 \int_0^1 (\lambda^{\beta q + s} + \lambda^s(1 - \lambda)^{\beta q})\lambda^s t^s d\lambda dt \right) \\
& = \frac{\eta_1(b, a)\eta_2(d, c)}{2^{\frac{1}{q}}(\alpha p + 1)^{\frac{1}{p}}(1 + s)^{\frac{1}{q}}} \left(B(\beta q + 1, s + 1) + \frac{1}{\beta q + s + 1} \right)^{\frac{1}{q}} \\
& \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right).
\end{aligned}$$

The proof is completed.

COROLLARY 5

In Theorem 5 if we put $s = 1$, we obtain the following fractional inequality

$$\begin{aligned}
& \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\
& \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b, a))-, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a, c) \\
& \quad + J_{a^+, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b, a))-, c^+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\
& \quad \left. + J_{a^+, c^+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \\
& \leq \frac{\eta_1(b, a)\eta_2(d, c)}{2^{\frac{2}{q}}(\alpha p + 1)^{\frac{1}{p}}(\beta q + 1)^{\frac{1}{q}}} \\
& \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right).
\end{aligned}$$

COROLLARY 6

In Theorem 5 if we choose $\eta_1(b, a) = \eta_2(b, a) = b - a$, we obtain the following fractional inequality

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, d) + f(b, c) + f(b, d)}{4} - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(b - a)^\alpha(d - c)^\beta} \right. \\ & \quad \times \left. (J_{b^-, d^-}^{\alpha, \beta} f(a, c) + J_{a^+, d^-}^{\alpha, \beta} f(b, c) + J_{b^-, c^+}^{\alpha, \beta} f(a, d) + J_{a^+, c^+}^{\alpha, \beta} f(b, d)) \right| \\ & \leq \frac{(b - a)(d - c)}{2^{\frac{1}{q}}(\alpha p + 1)^{\frac{1}{p}}(1 + s)^{\frac{1}{q}}} \left(B(\beta q + 1, s + 1) + \frac{1}{\beta q + s + 1} \right)^{\frac{1}{q}} \\ & \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right)^{\frac{1}{q}}. \end{aligned}$$

Moreover if we take $s = 1$, we get Theorem 6 from [16].

THEOREM 6

Under the assumptions of Theorem 4, we have the following fractional inequality

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\ & \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a + \eta_1(b, a))^-, (c + \eta_2(d, c))^-}^{\alpha, \beta} f(a, c) \\ & \quad + J_{a^+, (c + \eta_2(d, c))^-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a + \eta_1(b, a))^-, c^+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\ & \quad \left. + J_{a^+, c^+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \Big| \\ & \leq \frac{2^{\frac{2}{p}} \eta_1(b, a) \eta_2(d, c)}{(\alpha p + 1)^{\frac{1}{p}}(\beta p + 1)^{\frac{1}{p}}(s + 1)^{\frac{2}{q}}} \left(1 - \left(\frac{1}{2} \right)^{\alpha p + 1} \right)^{\frac{1}{p}} \left(1 - \left(\frac{1}{2} \right)^{\beta p + 1} \right)^{\frac{1}{p}} \\ & \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right). \end{aligned}$$

Proof. From Lemma 1, properties of modulus, and Hölder inequality, we have

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\ & \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a + \eta_1(b, a))^-, (c + \eta_2(d, c))^-}^{\alpha, \beta} f(a, c) \\ & \quad + J_{a^+, (c + \eta_2(d, c))^-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a + \eta_1(b, a))^-, c^+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\ & \quad \left. + J_{a^+, c^+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \Big| \\ & \leq \frac{\eta_1(b, a) \eta_2(d, c)}{4} \left(\int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a + t\eta_1(b, a), c + \lambda\eta_2(d, c)) \right|^q d\lambda dt \right)^{\frac{1}{q}} \\ & \quad \times \left(\int_0^1 (t^\alpha + (1 - t)^\alpha)^p dt \right)^{\frac{1}{p}} \left(\int_0^1 (\lambda^\beta + (1 - \lambda)^\beta)^p d\lambda \right)^{\frac{1}{p}} \end{aligned}$$

$$\begin{aligned}
&= \frac{\eta_1(b, a)\eta_2(d, c)}{4} \left(\int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda} (a + t\eta_1(b, a), c + \lambda\eta_2(d, c)) \right|^q d\lambda dt \right)^{\frac{1}{q}} \\
&\quad \times \left(\int_0^{\frac{1}{2}} (t^\alpha + (1-t)^\alpha)^p dt + \int_{\frac{1}{2}}^1 (t^\alpha + (1-t)^\alpha)^p dt \right)^{\frac{1}{p}} \\
&\quad \times \left(\int_0^{\frac{1}{2}} (\lambda^\beta + (1-\lambda)^\beta)^p d\lambda + \int_{\frac{1}{2}}^1 (\lambda^\beta + (1-\lambda)^\beta)^p d\lambda \right)^{\frac{1}{p}} \\
&\leq \frac{\eta_1(b, a)\eta_2(d, c)}{4} \left(\int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda} (a + t\eta_1(b, a), c + \lambda\eta_2(d, c)) \right|^q d\lambda dt \right)^{\frac{1}{q}} \\
&\quad \times 4 \left(\int_0^{\frac{1}{2}} (1-t)^{\alpha p} dt + \int_{\frac{1}{2}}^1 t^{\alpha p} dt \right)^{\frac{1}{p}} \left(\int_0^{\frac{1}{2}} (1-\lambda)^{\beta p} d\lambda + \int_{\frac{1}{2}}^1 \lambda^{\beta p} d\lambda \right)^{\frac{1}{p}} \\
&\leq \frac{2^{\frac{2}{p}} \eta_1(b, a)\eta_2(d, c)}{(\alpha p + 1)^{\frac{1}{p}} (\beta p + 1)^{\frac{1}{p}}} \left(1 - \left(\frac{1}{2} \right)^{\alpha p + 1} \right)^{\frac{1}{p}} \left(1 - \left(\frac{1}{2} \right)^{\beta p + 1} \right)^{\frac{1}{p}} \\
&\quad \times \left(\int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda} (a + t\eta_1(b, a), c + \lambda\eta_2(d, c)) \right|^q d\lambda dt \right)^{\frac{1}{q}}.
\end{aligned}$$

Using the s -preinvexity on the co-ordinates of $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|^q$, (5) gives

$$\begin{aligned}
&\left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\
&\quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a)^\alpha (\eta_2(d, c))^\beta)} (J_{(a+\eta_1(b, a))-, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a, c) \\
&\quad + J_{a+, (c+\eta_2(d, c))-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b, a))-, c+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\
&\quad \left. + J_{a+, c+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \\
&\leq \frac{2^{\frac{2}{p}} \eta_1(b, a)\eta_2(d, c)}{(\alpha p + 1)^{\frac{1}{p}} (\beta p + 1)^{\frac{1}{p}}} \left(1 - \left(\frac{1}{2} \right)^{\alpha p + 1} \right)^{\frac{1}{p}} \left(1 - \left(\frac{1}{2} \right)^{\beta p + 1} \right)^{\frac{1}{p}} \\
&\quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda} (a, c) \right|^q \int_0^1 \int_0^1 (1-t)^s (1-\lambda)^s d\lambda dt \right. \\
&\quad + \left| \frac{\partial^2 f}{\partial t \partial \lambda} (a, d) \right|^q \int_0^1 \int_0^1 (1-t)^s \lambda^s d\lambda dt + \left| \frac{\partial^2 f}{\partial t \partial \lambda} (b, d) \right|^q \int_0^1 \int_0^1 t^s \lambda^s d\lambda dt \\
&\quad \left. + \left| \frac{\partial^2 f}{\partial t \partial \lambda} (b, c) \right|^q \int_0^1 \int_0^1 t^s (1-\lambda)^s d\lambda dt \right)^{\frac{1}{q}} \\
&= \frac{2^{\frac{2}{p}} \eta_1(b, a)\eta_2(d, c)}{(\alpha p + 1)^{\frac{1}{p}} (\beta p + 1)^{\frac{1}{p}} (s + 1)^{\frac{2}{q}}} \left(1 - \left(\frac{1}{2} \right)^{\alpha p + 1} \right)^{\frac{1}{p}} \left(1 - \left(\frac{1}{2} \right)^{\beta p + 1} \right)^{\frac{1}{p}} \\
&\quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda} (a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda} (a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda} (b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda} (b, d) \right|^q \right)^{\frac{1}{q}}.
\end{aligned}$$

The proof is completed.

COROLLARY 7

In Theorem 6 if we put $s = 1$, we obtain the following fractional inequality

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, c + \eta_2(d, c)) + f(a + \eta_1(b, a), c) + f(a + \eta_1(b, a), c + \eta_2(d, c))}{4} \right. \\ & \quad - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(\eta_1(b, a))^\alpha(\eta_2(d, c))^\beta} (J_{(a+\eta_1(b,a))-, (c+\eta_2(d,c))-}^{\alpha, \beta} f(a, c) \\ & \quad + J_{a^+, (c+\eta_2(d,c))-}^{\alpha, \beta} f(a + \eta_1(b, a), c) + J_{(a+\eta_1(b,a))-, c^+}^{\alpha, \beta} f(a, c + \eta_2(d, c)) \\ & \quad \left. + J_{a^+, c^+}^{\alpha, \beta} f(a + \eta_1(b, a), c + \eta_2(d, c)) \right) \\ & \leq \frac{\eta_1(b, a)\eta_2(d, c)}{2^{\frac{2}{q} - \frac{2}{p}}(\alpha p + 1)^{\frac{1}{p}}(\beta p + 1)^{\frac{1}{p}}} \left(1 - \left(\frac{1}{2}\right)^{\alpha p + 1}\right)^{\frac{1}{p}} \left(1 - \left(\frac{1}{2}\right)^{\beta p + 1}\right)^{\frac{1}{p}} \\ & \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right). \end{aligned}$$

COROLLARY 8

In Theorem 6 if we choose $\eta_1(b, a) = \eta_2(b, a) = b - a$, we obtain the following fractional inequality

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, d) + f(b, c) + f(b, d)}{4} - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(b - a)^\alpha(d - c)^\beta} \right. \\ & \quad \times (J_{b^-, d^-}^{\alpha, \beta} f(a, c) + J_{a^+, d^-}^{\alpha, \beta} f(b, c) + J_{b^-, c^+}^{\alpha, \beta} f(a, d) + J_{a^+, c^+}^{\alpha, \beta} f(b, d)) \left. \right| \\ & \leq \frac{2^{\frac{2}{p}}(b - a)(d - c)}{(\alpha p + 1)^{\frac{1}{p}}(\beta p + 1)^{\frac{1}{p}}(s + 1)^{\frac{2}{q}}} \left(1 - \left(\frac{1}{2}\right)^{\alpha p + 1}\right)^{\frac{1}{p}} \left(1 - \left(\frac{1}{2}\right)^{\beta p + 1}\right)^{\frac{1}{p}} \\ & \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right)^{\frac{1}{q}}. \end{aligned}$$

Moreover if we take $s = 1$, we get

$$\begin{aligned} & \left| \frac{f(a, c) + f(a, d) + f(b, c) + f(b, d)}{4} - A + \frac{\Gamma(\alpha + 1)\Gamma(\beta + 1)}{4(b - a)^\alpha(d - c)^\beta} \right. \\ & \quad \times (J_{b^-, d^-}^{\alpha, \beta} f(a, c) + J_{a^+, d^-}^{\alpha, \beta} f(b, c) + J_{b^-, c^+}^{\alpha, \beta} f(a, d) + J_{a^+, c^+}^{\alpha, \beta} f(b, d)) \left. \right| \\ & \leq \frac{(b - a)(d - c)}{(\alpha p + 1)^{\frac{1}{p}}(\beta p + 1)^{\frac{1}{p}} 2^{\frac{2}{q} - \frac{2}{p}}} \left(1 - \left(\frac{1}{2}\right)^{\alpha p + 1}\right)^{\frac{1}{p}} \left(1 - \left(\frac{1}{2}\right)^{\beta p + 1}\right)^{\frac{1}{p}} \\ & \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right)^{\frac{1}{q}}. \end{aligned}$$

References

[1] Alomari, M. and M. Darus. "The Hadamard's inequality for s -convex function." *Int. J. Math. Anal. (Ruse)* 2, no. 13-16 (2008): 639-646. Cited on 67 and 69.
 [2] Ben-Israel, A. and B. Mond. "What is invexity?" *J. Austral. Math. Soc. Ser. B* 28, no. 1 (1986): 1-9. Cited on 67.

- [3] Dragomir, S.S. "On the Hadamard's inequality for convex functions on the co-ordinates in a rectangle from the plane." *Taiwanese J. Math.* 5, no. 4 (2001): 775-788. Cited on 67 and 68.
- [4] Hanson, Morgan A. "On sufficiency of the Kuhn-Tucker conditions." *J. Math. Anal. Appl.* 80, no. 2 (1981): 545-550. Cited on 67.
- [5] Kilbas, Anatoly A., Hari M. Srivastava and Juan J. Trujillo. *Theory and applications of fractional differential equations*. Vol. 204 of *North-Holland Mathematics Studies*. Amsterdam: Elsevier Science B.V., 2006. Cited on 70.
- [6] Latif, M.A. and M. Alomari. "Hadamard-type inequalities for product two convex functions on the co-ordinates." *Int. Math. Forum* 4, no. 45-48 (2009): 2327-2338. Cited on 67 and 69.
- [7] Latif, M. A. and M. Alomari. "New inequalities of Ostrowski type for co-ordinated convex functions via fractional integrals." *J. Fract. Calc. Appl.* 2, no. 9 (2012): 1-15. Cited on 67 and 70.
- [8] Latif, M.A. and S.S. Dragomir. "Some Hermite-Hadamard type inequalities for functions whose partial derivatives in absolute value are preinvex on the co-ordinates." *Facta Univ. Ser. Math. Inform.* 28, no. 3 (2013): 257-270. Cited on 67 and 70.
- [9] Matłoka, Marian. "On some Hadamard-type inequalities for (h_1, h_2) -preinvex functions on the co-ordinates." *J. Inequal. Appl.* 2013, (2013): art id. 227. Cited on 67 and 69.
- [10] Meftah, B., K. Boukerrioua and T. Chiheb. "New Hadamard's inequality for (s_1, s_2) -preinvex functions on co-ordinates." *Kragujevac J. Math.* 39, no. 2 (2015): 231-254. Cited on 67 and 70.
- [11] Meftah, B. "Fractional Hermite-Hadamard type integral inequalities for functions whose modulus of derivatives are co-ordinated log-preinvex." *Punjab Univ. J. Math. (Lahore)* 51, no. 2 (2019): 21-37. Cited on 67 and 71.
- [12] Noor, M. A. (1994). Variational-like inequalities. *Optimization* 30(4), 323-330. Cited on 67.
- [13] Noor, M.A. "Invex equilibrium problems." *J. Math. Anal. Appl.* 302, no. 2 (2005): 463-475. Cited on 67.
- [14] Pečarić, Josip E., Frank Proschan and Y.L. Tong. *Convex functions, partial orderings, and statistical applications*. Vol. 187 of *Mathematics in Science and Engineering*. Academic Boston, MA: Press, Inc., 1992. Cited on 67.
- [15] Pini, Rita. "Invexity and generalized convexity." *Optimization* 22, no. 4 (1991): 513-525. Cited on 67.
- [16] Sarikaya, M.Z. "On the Hermite-Hadamard-type inequalities for co-ordinated convex function via fractional integrals." *Integral Transforms Spec. Funct.* 25, no. 2, (2014): 134-147. Cited on 67, 68, 71, 74, 76 and 79.
- [17] Sarikaya, M.Z. et all. "New some Hadamard's type inequalities for co-ordinated convex functions." *Tamsui Oxf. J. Inf. Math. Sci.* 28, no. 2 (2012): 137-152. Cited on 67.
- [18] Weir, T. and B. Mond. "Pre-invex functions in multiple objective optimization." *J. Math. Anal. Appl.* 136, no. 1 (1988): 29-38. Cited on 67.
- [19] Yang, Xin Min and Duan Li. "On properties of preinvex functions." *J. Math. Anal. Appl.* 256, no. 1 (2001): 229-241. Cited on 67.

Badreddine Meftah
Laboratoire des Télécommunications
Faculté des Sciences et de la Technologie
University of 8 May 1945 Guelma
P.O. Box 401, 24000 Guelma
Algeria
E-mail: badrimeftah@yahoo.fr

Abdourazek Souahi
Laboratory of Advanced Materials
University of Badji Mokhtar-Annaba
P.O. Box 12, 23000 Annaba
Algeria
E-mail: arsouahi@yahoo.fr

Received: January 25, 2019; final version: March 27, 2019;
available online: May 13, 2019.